

AMATEUR BOWLERS TOUR

PO BOX 72608 - ROSELLE, IL 60172 - (630) 295-8551 www.abtchicagoland.com

REGULAR SINGLES										
BEVERLY LANES					FEBRU <i>A</i>	NRY 9 - 10, 2013				
CLASSIC	PRIZ	E FUNI	0		TOURNAMENT FINANCIAL REPORT					
100 Classic Entries	@	\$28.00	=	\$2,800.00	Classic Prize Fund	\$4,695.00				
8 On Site Entries	@	\$5.00	=	\$40.00	Masters Prize Fund	\$3,797.00				
Bonanza Progressive				\$1,280.00	Optional Sweepers Paid	\$2,040.00				
Bonus Bucks				\$560.00	Brackets Paid	\$3,150.00				
					Optional Side Pots Paid	\$640.00				
Added By ABT				\$15.00	Hdcp 315/Scratch 300 Pots Paid	\$178.00				
Total Prize Fund				\$4,695.00	Clean Pot Paid	\$0.00				
MASTERS	PRIZ	ZE FUN	D		Promotions	\$260.00				
69 Masters Entries	@	\$38.00	=	\$2,622.00	"Bye" Bonus	\$50.00				
11 On Site Entries	@	\$5.00	=	\$55.00	Practice Squad Entries	\$430.00				
Bonanza Progressive				\$780.00	Champions Shirts	\$150.00				
Bonus Bucks				\$340.00						
Added By ABT				\$0.00						
Total Prize Fund				\$3,797.00	Total Paid Out This Event	\$15,390.00				

















TOURNAMENT NOTES

Thanks to this weekend's volunteers: Rose Morrissey, Linda Scaletta, Dale Warfel, and Gordon Brown.

Congratulations to our raffle winners: Paul Lee who won a free entry into an upcoming events and Jose Lopez Jr who won the "Pick Your Ball" raffle and selected a Storm Lucid bowling ball.

The practice squad produced 30 entries and 8 bowlers won main event entries. Low to cash was +28.

Many thanks to the Zikes family and Beverly Lanes for hosting our event. We had a little water trouble during the Sunday noon squad, but why was it raining in February? All of the bowlers that were originally checked in on the Sunday noon squad will receive \$10 off their first main event entry at Antioch Bowl.

All of the 2012 1099s have been handed out or mailed. If you have not received yours please see Mike for a copy.

TOTAL	PAID OUT BY	CHICAGOLAND B	
2013	\$77,511.50	Since November 1991	\$19,365,815.20

CLASSIC CHAMPION

Ray Braceros

Age 57 Title

Ray is a computer programmer for HSBC. He is married to Vivian and they have three children. Ray has been bowling for more than 30 years and bowls in the Beverly Sport league. He has a high game of 300 and a high series of 700+ to his credit. Ray was throwing a STORM Virtual Gravity Nano drilled by Sang Lee at Arlington Pro Shop inside Arlington Lanes. In addition to bowling Ray enjoys fishing and camping. He wanted to thank his wife Vivian, Beverly Lanes, ABT, Joe's advice, and his other teammates. He plans to use his winnings for a Reno "baby" vacation. This being his first singles title he concluded by saying, "about time."

		CL	ASSI	CFINALS	RESULT	S	
PLACE	FINALIST	GMS	SCORE	BASE PRIZE	BONANZA	BONUS BUCKS	TOTAL PRIZE
1	Ray Braceros	3	716	\$600.00	\$1,030.00	\$56.00	\$1,686.00
2	Tony Sokolowski	3	653	\$300.00	\$250.00		\$550.00
T3	James Cradduck	1	259	\$150.00		\$280.00	\$430.00
T3	Sean Wittler	1	179	\$150.00		\$140.00	\$290.00
T5	Richard Baron	1	197	\$125.00			\$125.00
T5	Don Koenig	1	196	\$125.00		\$84.00	\$209.00

FINALS RESULTS

Round 1: Sokolowski def. Koenig 208-196; Braceros def. Baron 220-197. Round 2: Braceros def. Wittler 235-179; Sokolowski def. Cradduck 262-259. Championship: Braceros def. Sokolowski 261-183.

MASTERS CHAMPION

Jose Lopez Jr

Next Event Total

\$10,639 **Avail**

\$5,320

/ X

Age 30 Titles

8

Jose is an SAP evaluator for Career Education Corp. He has been bowling for 23 years and bowls league BZ Fountain Square. Jose has a high game of 300 and a high series of 759 to his credit. He was throwing a Roto Grip Dark Star drilled by Jim Erickson at Erickson's Pro Shop inside Sunset Bowl. In addition to bowling Jose enjoys watching and playing sports. He wanted to thank the ABT staff, Beverly Lanes, his parents, and those who stayed to watch the finals. Jose plans to use his winnings for the ABT Spring Nationals.

		M A	STER	S FINALS	RESULT	S	
PLACE	FINALIST	GMS	SCORE	BASE PRIZE	BONANZA	BONUS BUCKS	TOTAL PRIZE
1	Jose Lopez Jr	3	636	\$700.00	\$630.00	\$51.00	\$1,381.00
2	Joseph Bustamante	2	391	\$350.00	\$150.00	\$170.00	\$670.00
T3	Don Czyznik	2	490	\$170.00			\$170.00
T3	Nestor Malab	1	175	\$170.00			\$170.00
T5	Tim Culp	1	236	\$130.00		\$34.00	\$164.00
T5	Joe Gorro	1	211	\$130.00		\$85.00	\$215.00

FINALS RESULTS

Round 1: Czyznik def. Culp 267-236; Lopez def. Gorro 228-211. Round 2: Lopez def. Malab 176-175;

Bustamante def. Czyznik 224-223. Championship: Lopez def. Bustamante 232-167.

В				mpionsmpi Ed		n Dasta			<i>,</i> .			
	PR	EPAID	HIGH	SERIE	S		PRE	PA]	D H	ΗIGI	H G A	AME
Classic	700	Tony S	Sokolowski	i \$50	0.00	285	;	R	ich Ho	ozian		\$50.00
Masters	753	Kevi	n Tade Jr	\$60	0.00	277	,		Rick H	lara		\$60.00
CUT SCORES												
Classic	Saturday	+48	Sunday	+42				Go	ld Ticl	cet St	ephani	e Halminiak
Masters	Saturday +37 Sunday			+36		Gold Ticket Kevin			n Tade			
	HANDICAP 315 POT											
This Event	No winners	5										
Next Event	Total \$	1,536 Avail	\$768		300	\$307	305	\$461	310	\$614	315	\$768
			SC	RATCH	30	0 P	O T					
This Event	Kevin Tade	277) \$89	; Rick Hara	(268) \$89								
Next Event	Total	\$793 Avail	\$397		268	\$159	279	\$238	290	\$318	300	\$397
				CLEA	N P	O T						
This Event	No winners	5										

\$1,064

X /

\$2,128 **XX** -

\$3,192 **XXX**

\$5,320

						SEMIF				ULTS			
PLACE		SEMIFI		BRANCH		PRIZE			SEMIFI		BRANCH		PRIZE
1	+99		s Cradduck	CHI	30+6	*****	11	+34		k Marack Jr	CHI	36+2	\$90.00
2	+91		Wittler	CHI	28+2	*****	T12	+33	Ed Br	-	CHI	37+2	\$88.50
3	+61		Koenig	CHI	49+8	*****	T12	+33		ohnson	CHI	37+4	\$88.50
4	+59		Braceros	CHI	32+5	*****	14	+26		onski	CHI	25+1	\$87.00
5	+53		rd Baron	CHI	39	*****	15	+22		than Tompary	CHI	37+3	\$86.00
6	+49		Sokolowski	CHI	25+2	*****	16	+17		lcEben	CHI	40+2	\$85.00
7	+44		Rakowski	CHI	28+6	\$94.00	17	+10		Coyle	CHI	34+3	\$84.00
8	+41	Nelso	n Townsend	CHI	32+3	\$93.00	18	+7		on Brown	CHI	30+7	\$83.00
T9	+35		t Johnson	CHI	38+4	\$91.50	19	+2	LeCa	rr Mayweather	CHI	34+1	\$82.00
Т9	+35	Brian	Falada	CHI	30	\$91.50	20	-3	Bruce	e Franks	CHI	35	\$81.00
	_	_		AACTE	D.C.	CEMI	- T NI .		D F C	HITC		_	
DI COT	0007	051:55		1 A S T E		SEMI				ULTS	DD (110.00	
		SEMIFI		BRANCH		PRIZE			SEMIFI		BRANCH		PRIZE
1	+101		r Malab	CHI	23+5	*****	9	+17		Greenspan	CHI	14+1	\$100.00
2	+86		h Bustaman		18+2	*****	10	+15		Sirikul	CHI	21	\$100.00
3	+81		Czyznik	CHI	7+2	*****	11	-5		Sypniewski	CHI	19	\$100.00
4	+74	Joe G		CHI	24+8	*****	12	-7		n Tade Jr	CHI	16+5	\$100.00
5	+49	Jose	Lopez Jr	CHI	18+2	*****	13	-18		Variola	CHI	23+2	\$100.00
6	+30	Tim C		CHI	17+3	*****	14	-23	Paul		CHI	22	\$100.00
7	+29	Ron H	larast	CHI	20	\$105.00	15	-74	Devir	n Knabenbauer	CHI	21	\$100.00
8	+22	Dave	Palojarvi Jr	CHI	17	\$102.00							
										_			
				S		RDAY HANDICAP			ERS	5			
				34 Entri		mandicar @		12.00	١ –	\$408.00			
			Δd	Ided By AB			,	,12.00	, –	\$0.00			
				otal Prize F		golaria				\$408.00			
PLAC	E S	CORE	BOWLER	, tui 1 1120 1	ana	PRIZE	PLAC	E S	CORE	BOWLER			PRIZE
1		515	Tom Sirikul			\$168.00	5		467	Joe Johnson			\$27.00
2		482	Tim Culp			\$84.00	6		462	Frank Marack]r		\$26.00
3		480	Tony Sokolo	owski		\$50.00	7		447	Jonathan Tom			\$25.00
4		469	Nelson Tow	nsend		\$28.00	,		,	Jonathan Tom	pu. y		Ψ23.00
•		.05				Ψ20.00							
						SCRA		40.0					
				10 Entri		@	\$	512.00) =	\$120.00			
				Ided By AB		goland				\$0.00			
				tal Prize F	<u>Fund</u>					\$120.00			
PLAC	E S		BOWLER			PRIZE	PLAC	E S		BOWLER			PRIZE
1		653	Tim Culp			\$80.00	2		646	Tom Sirikul			\$40.00
						SENI	ODC						
				28 Entri	ies	@ SEINT		512.00) =	\$336.00			
			ΔΑ	Ided By AB			٦		•	\$5.00			
				otal Prize F		golaria				\$34 1.00			
			10							70.2.00			
ΡΙ ΔΛ	FS	CORF		itai Piize i	una	PRT7F1	PI AC	FS	CORF	BOWI FR			PRT7F
PLAC	E S		BOWLER		unu	PRIZE \$144.00	PLAC 4	E S	CORE 689				PRIZE \$27.00
1	E S	700	BOWLER Tony Sokolo	owski	uiiu	\$144.00	4	E S	689	Joe Johnson	end		\$27.00
	E S		BOWLER	owski ski	uiiu			E S					

		SUN	IDAY S	WEEI	PERS		
			HANDICAP				
		59 Entries	@	\$12	.00 =	\$708.00	
		Added By ABT Chica	agoland			\$0.00	
		Total Prize Fund				\$708.00	
PLACE	SCORE	BOWLER	PRIZE	PLACE	SCORE	BOWLER	PRIZE
1	532	Kevin Tade Jr	\$242.00	7	469	Sean Wittler	\$30.00
2	513	Ed Gronski	\$121.00	8	468	Sean Wittler	\$29.00
3	493	Richard Baron	\$72.00	9	467	Jeff Rakowski	\$28.00
4	486	Nestor Malab	\$39.00	10	464	Tom Variola	\$27.00
5	479	Bruce Franks	\$36.00	11	461	Paul Lee	\$26.00
6	476	Bruce Franks	\$33.00	12	458	Richard Baron	\$25.00
			SCRA	тсн			
		18 Entries	@	\$12	.00 =	\$216.00	
		Added By ABT Chica	agoland			\$0.00	
		Total Prize Fund				\$216.00	
PLACE	SCORE	BOWLER	PRIZE	PLACE	SCORE	BOWLER	PRIZE
1	690	Kevin Tade Jr	\$106.00	3	571	Paul Lee	\$32.00
2	580	Devin Knabenbauer	\$53.00	4	560	Devin Knabenbauer	\$25.00
			SENI	ORS			
		21 Entries	@	\$12	.00 =	\$252.00	
		Added By ABT Chica	agoland			\$0.00	
		Total Prize Fund				\$252.00	
PLACE	SCORE	BOWLER	PRIZE	PLACE	SCORE	BOWLER	PRIZE
1	685	Bill McEben	\$126.00	3	649	Tony Sokolowski	\$38.00
2	669	Tom Variola	\$63.00	4	644	Jeff Rakowski	\$25.00